. ¢
2 I o
SE e ~ M 2

8 =1 5 T 5
®s 4 I i N
=2 = | Ef o R W k|
s|g| [® ( s X E & Wl oy
2g “|L i £ 2 S| i
2Bl & = I IO ol |
S| §|€ = _ R |w® 2 ® o= (B i
W@ |2 | g 2 |= %_%_ < RN _w_ S| K ___m
, #_ 2 l#lw g %2 2 Rl & 4
S = 5w | ® ® U op X S| R
e (IO S R o ® O’ g i
= | I TR W i S
S 2|8 2R NS w o |m
o s I | i IR = e |
o = e N 14 N % & H A R
T G N it I AL
{m W.w\fvm%% ﬁ%m%m@b & Wm, , e / WW_ 4o [ Y8 (4o

R PN ¥ | ‘

"

100 m

ERE

#ER:1/2,500

M XiE X

ax

==

SEMRE- T KER

<L
) ¥

b

i

1/ 2



TEFOAODKESS—E

(BEZEE] BARZRDIEE |(AlEfHhORE
1. TROZFUEEBHONRTERSICLIES EBABTEE  |132204A661102056
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(A #ﬁbl';;ﬁmoom/ %2 BREOBEO N OBABKN/M) (E) B A ImEBZ BRIL D ETED 5 DBAEKN/ ) 2 THXERARUZEBNICSHIREEHT S ik ikl
Z \ MmZztEA g HERNIE m = /N3mE A ERNIE m EAs 3 - — L D=3 il —
B) (WD LZLEEWIERTHBED L AEDEE(m) (F) EN LB RS 588 DL EE DR Em) %i%wﬁ’;fégfﬁf’t‘ﬂﬁi%éf_ ﬁ@?ﬁﬁ P 7E #h ™ TR
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(A) (B) (©) (D) (E) (F) (G) (H) (A) (B) () (D) (E) (F) (G) (H)
(1) 155.6 1.0 99.3 1.0 18.2 3.6 15.1 3.0 155.6 1.0 96.8 1.0 18.2 3.6 15.2 3.0
(2) 155.6 1.0 99.3 1.0 18.2 3.6 15.1 3.0 155.6 1.0 96.8 1.0 18.2 3.6 15.2 3.0
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